Lesson 2

Demonstration 3b – Recording of Problems from Chapter 3

Ok, so let’s now remove the calculations of the mean and instead, see how we determine what the median of this set of scores is.  Now, finding the median of a set of scores, it’s always a good idea to first order the scores going from the smallest score to the largest score. So, if we do that for the scores we have here, we get 2 being the smallest value, then 5, another 5, then there’s a 6, then there’s an 8, then there’s a 9, then three 11s, and then we have a 14. Ok, so not they are ranked so that the lowest score is on the left and the highest score is on the right.  Now what we need to do is figure out what the exact middle point of these scores is. In this case, we have 10 values, so an even number of scores. Now because of that, there is no value for which half of the rest of values is lower and half is higher. That’s only because we have an odd number of values. For even number of values, what we do instead is take the average of the 2 values that are in the middle.

So, if we look at the values 8 and 9 here, you see that those 2 have four values to the left of them and four values to the right. So that’s the middle point. The middle point, in fact, lies right between 8 and 9. So to find the median, what we do is just take the average out of 8 and 9. So just 8 plus 9 divided by 2. So the original median for this data set is 8.5.

Now let’s see what happens when we actually add a score to this data set. Let’s assume that the score that we add is a data that is the largest in the data set, so we had a value of 16. That means that in the rank order of scores, we add 16 to the right most end and not to find a new median we use a different way of finding it because we have an odd number of scores which means that there’s one value in the data set for which there’s the same number of values that are lower and higher than that value. So, if we take the value 9 here, we see that there are 5 values that are lower and there are 5 values that are higher. So in other words, 9 is the exact mid-point of this data set. So that’s our median. That’s the end of this example.

